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#�$%$����&'��(��)��&��&��*���	(�		+�� ��+���-��#. �&��/�
�����&���-� �0���
����	������0�*�+��������#-����$	��#	����������	1�������������
����	���&����������&���- ��
/��	���1����	�����&�� 1 
����� 4 #� � +����

�$���	��� �. ��  	��-�����&��	����$�� �'�
$4-+��/)'#-�	��-�����&��*����������	
���� $�&����*

3.1 ������������������
��
�
�� 
��#���56�5	��7+&����*

3.1.1 ���������/�!"
�#�

   1) ��	������$0�����	�� ������- CPU Pentium II RAM 256 MB  Hard disk 20GB
              2) ��	������0���&74$�
���	�(GPS)

3.1.2 %�&������

1) %5	#�	$ CAMEO Windows  ���	�)��� 1.2  ����	���56�Y���'�$4-��	��$�
  2) %5	#�	$ ALOHA ���	�)��� 5.2.3 ����	��/)'/���	
��-���(����	1�����������

�!�"#�$%$����	���[�-
��(���		
�
   3) %5	#�	$ MARPLOT  ���	�)��� 3.2.1  ����	������	������#-�#�&�0�*�+��������/�

������.-�	�+�
����	
��-���(����	1�����������&'��%5	#�	$ ALOHA
4) %5	#�	$ SHP2MIE ����	��#5-�#.�+���0���/)'/�%5	#�	$ MARPLOT
5) %5	#�	$ Arcview ���	�)��� 3.2 ����	��
�&��	��$#-�5	��5	���'�$4-��	���+


74$�
���	�
6) %5	#�	$ SPSS ���	�)��� 10.0 ����	������	�����'�$4-+���(���

3.1.3 ���'��(��)������!*'�+
���

��	
�&"�*��!�"#��[_&	��#�$%$�������%	�����������		$

3.2 ,���-.��������
��
�
��

3.2.1 ./
�#0(/��.0
������!


[&'#�  %�	��	'�� 5	�$��	 #-����&����5	����+����&��*���(���		+��  5	�$�1
�!�"  ��1�74$�  ���$&�� ��'�+��+��/)'/���	��� ��!�"#��[_&	��#�$%$����
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3.2.2 '1�2��
�


/)'�'�$4-.-�	�
��&�7�0����
����	$�������$��+�� 5` 0.
. 2540 (�� 2545 
��
�(����	�
��&�7�0����

�����&���-�#-���&/�a  [&'#�  �'�$4-+�
+��#-����$�	b�-$ 
���$)�*���$0�+��  ��1�74$� 5	�$�1�$c

3.2.3 ,���-.'��'���
1-��
�'*��

/)'�'�$4-��	���+
74$�
���	� $��	�� �� 1 : 50,000 �����������
��#-�0�f�� 
$����+��-�����-���	��+	�  [&'#�  �����	5��	�� +���-��#. �&�� %	��	��� %	�0����- 
�(������$�� %	�����������		$ ��& 
4����&b��-b� �'��0��.4'�4����� #�- ��*�� �������	1�

3.2.4 ,���-.'������  /)'��1�$��������!�"#�$%$����
��Y���'�$4-/�%5	#�	$ 
CAMEO #-� ALOHA

3.3  ,/4�*��
��
�
��

 3.3.1 
��,�,���-.5�
+�6�7�������
��7�,���

1) �	���+.4'
���� ���!�"#��[_&	��#�$%$����
2) %	�����������		$+���������'�������	/)'�!�"#��[_&	��#�$%$���� /� 4 
�����&

[&'#� 
�����&���-� 
�����&5g����� 
�����&��-� #-�
�����&�	������ ��$5	��7+��
��	+��

��#��[�'/�+�������%	�����������		$ 5` 2545 	�$+�*��$& 137 #� � [&'#�  �'����b�#-�
����	+��-#) #�b� 
����� 47 #� �  �*������'� 
�����  25 #� �   .-���*��#�b�  
����� 59 #� �
.-��7�1j����  
����� 4 #� �  �'���		0����'�  
����� 2 #� �

3) �	$�������$��+��
4) ��������
��#-�0�f�� $����+��-�����-���	��+	�

3.3.2 
���6���4�/�*��7 (Hazard Identification)

 1) 5/�.G��/�5!��/�*��7

��	�����&
�&����	��/�#� -��	���1 
�/)'
�&�-��	( �����-��+��#���	���	���
	�
$�%�'�#-'�#� �(��+�� �56�
�&�'�����/���	
�&-��&�� ������
������������+�����&��*�$���56��	���1

�&�-��	( +��#�����(��+���	�#-�+��%�'� (��	0��� �1�7����, 2545) ��	
�&-��&��
�&
����	��
�/)'����5	�$�1���$���������*���'� (risk estimation) 
�� 2 5g

����� %����+��
����&
��		���[�-
��������������	��� �. ��
�&����	�� #-�
�����5	�)��	/�0�*�+��� ��[�� 7��/�
	�
$� 2 ��%-�$�	
��
�&�'��������
�&����	��� �� k "���� �	�
$���*/)'0�
�	1�.-�	�+�
��������
������		���[�-����!�"+��$���1�$���������� �����
 (Brown et al., 2000) �$��	+��/)'���
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Risk(R) = Probability(P) × Consequences(Cq)

%&�+��
Cq = 
�����5	�)��	�-� $������/�0�*�+��� ��[�� (sensitive population) 7��/�	�
$� 

2 ��%-�$�	
��
�&�'����� [&'#�  %	��	��� %	�0����- �(������$�� �(������	����.4'�4����� 

4����&b��-b��	��
4����&b�� ������	���  ����	����&'��%5	#�	$ Arcview 3.2

   P  = %����+��
����&��		���[�-
��������������	��� ����(�����	��&'��	(�		+��. ��

�&����	��� �� k �����1
���$��	

P = A × B × fa × Ps

%&�+��
A  = ���$(�������	��� ����(�����	��&'��	(�		+�� , �	�*�� �5`
B  = ���$������(��/���	��� ����(�����	��&'��	(�		+��+��
�+����	
���� ,��%-�$�	

fa  = ���$(�����������������	��� ����(�����	��&'��	(�		+��

   $�� ��+ ���� 2 × 10-6 �	�*�� �5`

Ps = %���������		���[�-
��������������	��� ����(�����	��&'��	(�		+��
                      $�� ��+ ���� 0.2

2) ./
�#01-��"�0��


���	�
-���1�74$�5	��+
	��
�&����	�����&�� 1 +����4 ����'�+����	��� � 	�
$� 
2 ��%-�$�	  #� �0�*�+���56�) ���	�& ���& 500 ��	���$�	 �0���
�������$�	��	� (roughness)   
%&�/)'0�
�	1�-���1��& �����7�00�*�+��&'����#-�/�'� ����$��	�	���$��1j�+�������&[�'
/�7��.��� �  ����	������� ��v-������$�	��	�+��) ���	�&  �0����56����#+�� ����$�	��	�
���0�*�+��	��
�&����	��  ������
��/���	�����1���$��'$�'�����!�"/�����
 1 
�&/& k 
����!�"  /�+�
/�'-$ #��
��-��
�/)'������� ��v-���	��
�&��*� k


�&����	��+��
����[5�4 ��	
����&'��#��
��-�� /)'
�&����	��+��$�� ����$������
$��+����& (R $�� �$��+����&) 
����	
�&-��&��
�&����	�� ���-��&��#	� $��7�00�*�+����4 /�-'74
��� �56������4� 	�&�����$�4����0�*�+��#��� �����$��  "����56�-���1�0�*�+��+���56��'�
����&
���%5	#�	$/���	+�������	#0	 �	�
��  
�0�
�	1�
�&����	��+��� ����$������$��	��-�
$�
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3.3.3  
��������0+�H.
�0��  (Vulnerability Analysis)
1) "�/�"�!�,���-.'��'���
1-��
�'*��

%&���0���&74$�
���	��0��$���$ %&�/)'	45#���'�$4-���%5	#�	$ Arcview #-�
#5-�)�*��'�$4-� �� k �4 	45#��#.�+�����%5	#�	$ MARPLOT  &'��%5	#�	$ SPH2MIE � �
���#5	+��/)'��� UTM zone = 47  #-� Datum = NAD 83 (GRS1980)

2) ������0+�,���-.'1�2��
�


/)'�'�$4-.-�	�
��&�7�0����

���(����	�
��&�7�0����
 	��� ��5`
0.
.2540 (�� 2545 /�
�����&���-�+��/�-'
�&����	��+��
����$��+����&  ����	�����'�$4-���#5	
� �� k %&�
��#��	��{&4��� {&4	'�� #-�{&4|�

3) ������0+�"����#
���/��P+.�.05G�.��'(��
��#�

����	���� 2 �	1� ��� �	1�	'��#	�+����& (worst case scenario) #-� �	1�+��$�%����
���&��*�[&'$��+����& (most probable case scenario)  %&������&� � LOC 
����� 3 	�&�� ���

- ��$��1j�#�������� AIHA �����&� � LOC &'�� ERPG1-3 &����*  ERPG 1 $�� �
���$��'$�'��+ ���� 25 ppm  ERPG 2 $�� ����$��'$�'��+ ���� 250 ppm  ERPG 3 $�� ����$��'$
�'��+ ���� 750 ppm

- ��$��1j�#�������� NRCCT �����&� � LOC &'�� AEGL1-3 &����* AEGL1 $�
� ����$��'$�'��+ ���� 25 ppm  AEGL 2 $�� ����$��'$�'��+ ���� 270 ppm  AEGL 3 $�� ����$
��'$�'��+ ���� 2700 ppm

1) �	1�	'��#	�+����& (worst case) 
��-���(����	1�	(�		+���!�"#�$%$����
���&���������� 1 
�&����	�� /��1�+���		+�����&���$
��4���&  ���&��		���[�-���+�*��$&
7��/� 10 ��+�  /��7�0����
+��$�� ����$�	b�-$[$ �'���� � 1 �$�	� �����+� ���$)�*� 50 
�5�	��"b��� � ����$�	��	� /�'� ��56� rural   ��1�74$� 25 ��
��"-�"����	��� ���1�74$��4���&
����'�$4-.-�	�
��&�7�0����

���(����	�
��&�7�0����
+����4 /�-'
�&+��
�
��-���(��
��	1�$��+����&  (EPA and CEPP, 1999)

2) �	1�+��$�%�������&��*�[&'$��+����& (most probable case scenario) 
��-��
�(����	1��������������	(�		+����� ��!�"#�$%$���� �1��		+���!�"#�$%$����/����&
���$
�+��$����$(����	��� �$��+����& ���&��		���[�-������
�����$��0	 �������5�	1�5	��7+
��-��+����&��*���(���		+�� %&�� ����$��	�	�/)'�'�$4-
��.-��	
����-���1�74$�5	��+
/�
0�*�+��
	��  �'�$4-�7�0����
  /)'� ��v-���  [&'#� 

�) � ����$�	b�-$�v-���
��+�
+���	�#�-$+��$����$(��$��+����&
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�) � ��v-���	����������1�74$� ���$)�*���$0�+�� 5	�$�1�$c ����	����%&�
��	��� (� ��4���& + � �������&) ��	&'�� 2 #-'����� ��v-���	�������� ��v-�����$) ����-�+��
�

���� (��[--���1�  ��*��
	�a, 2540)

�) 	�&����(��	7�0����		����
 [&'$�
����	����	�������%5	#�	$ ALOHA
�$���/�'� �5	�$�1�$c#-����$�	b�-$

3.3.4  ������0+������'��7� (Risk Analysis)

1) ����	�����(��+������������	��&'��%5	#�	$ MARPLOT  %&�/)'	�
$�.-�	�+�
�4���&
����	
��-���(����	1�  +�*�����	1���� �	1�	'��#	�+����&#-��	1�+��$�%�������&��*�
[&'$��+����&  "���[&'
��
��-���(����	1�/��'� 3.3.3 �		����)��0�*�+�� �5	����+���
�����
�(��+������������	��7��/�#� -�	�
$�.-�	�+� �0���#�&�(�����$	��#	����������	1�������
������		���[�-
����	��� ��!�"#�$%$����. ��
�&����	��

2) 
�&	�&�����$������&'����	�����$������ (risk matrix) ��$#����� UNEP (1992)  
"���$�5g

���-��+���������'����� ���$� �
��56� (probability) �����	���&����������	���[�-  #-�
.-+����$$� (consequence) ��$�$��	 2.1 #-� �$��	 2.2 
�&	�&�����$������  #� ��56� 2 �	1� ���

�) �	1�	'��#	�+����& (worst case)  5	�$�1���$� �
��56������	���&������
����	���[�- %&�/)'���$(�������	��� ��!�"#�$%$�������&�		
��4���&+����� �. ��
�&
����	��+��
��-���(����	1�

�) �	1�+��$�%�������&��*�[&'$��+����& (most probable case) 5	�$�1���$� �
�
�56������	���&����������	���[�-  %&�/)'���$(�������	��� ��!�"#�$%$�������&�		
�+��$�
���$(����	��� �. ��
�&����	��+��
��-���(����	1��4���&

.-+����$$� +�*�����	1�  /)'
�����5	�)��	�-� $������/�0�*�+��� ��[��7��/�	�
$�
+����
[&'	��.-�	�+����	�&�� ��� .-�	�+�� ����7�0+��[$ ��
	���������4[&'�	��$�����	
	��#	����� k +���56�	�����-����  #-��	�+�� ����7�0+����
�����$� �)�����	�����[&'

3.4 '(�*���������
��������0+�

/)'%5	#�	$ SPSS ���	�)��� 10.0  /���	����	���� ���$(�� � ��v-���(mean) #-� 	'��-�


